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Q1. 9Y 2004 F o1 H a8 2005 H PG & AT Taf-d ST # Ufawd gig/HHT, a¥ 2007
&1 ga1 | a8 2008 H PhD & AU STdGH B+ a1l SHI &1 WS | Ul=Id gig/HHT &1
TTHT T wfara g2

(a) 470%

(b) 450%

(c) 440%

(d) 460%

(e) 410%

L1Difficulty 3

QTags Miscellaneous DI

QCreator Deepak Rohilla

Q2. PhD UTGISHH & 1T T 7T BET Bt 37d TReT, Uioht ITaash Al o g fTde e
I BT BT T Tem A T fpaq ufawrd sifdies/wH 82

(a) 72% HH

(b) 72% 3%

(c) 82% HH

(d) 82% 3%

(e) 77% 3Hfeh
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Q3. ®IH-1 I PhD UTGUHH & AU 3ffde & aTd 3R PhD UTUsHhH & W g 1Y
JE Bt G- & T Taied AE H SR S=idl 82

(a) 2004

(b) 2005

() 2006

(d) 2008

(e) 2009
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Q4. PhD &R & forg a¥f 2005, 2007 3R 2009 H A T BHET & TR T I B & forg

ay 2004, 2006 3R 2008 T HTAG FHRA T BSHI Bt BT F foaT U 82
(a) 2389 : 4980

(b) 2581 : 4700

(c) 2679 : 4321

(d) 2471 : 5321

(e) SRad # ¥ BIs 8!
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Q5. PG UTSTsHH § I 91 a9 fUad ad ot ga-1 & gaf+d o ot Jen d 9ad St
fasrd gfs / it gifan 82

(a) 2005

(b) 2006

(c) 2007

(d) 2008

(e) 2009
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Q6. 313 AfET &1 3T 24.3 B, TGH T Ugd &) &7 3T 18.5 § 3R 3T 1 BT 3d
21.2 31 If¢ ot A&7, Tad T 3 HH 3R 3164 F 8 FH g, Al 3! AT ot 82

(a) 24.8

(b) 26.5

(c) 27.6

(d) 29.4

(e) 25.6
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Q7. T& fad 10000 FTUY &b Th HIT DI 5% W 3R AY YT Bl 6% W Faw A 3|
5% ! A &R W o B T8 YRI=M, 6% HI ad &R IR o &1 T8 gRfi
76.50 TUY 3fF §, A 6% W Fow o1 78 I fHa g2

(a) 3600 TUT

(b) 3850 =0T

(c) 3500 =TT

(d) 4000 =TT

(e) 4200 =TT
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Q8.T® dPhaR 'X P 8 &l & EaR §M &1 ST ST 5. B L= dxA & 2 faAl &
d1e I UdT Iadl ¢ b 98 Srafd 99 # 64% B R $HR U1, SN a8 Y 3R Z2 6l
THEAT T § oI HRUId HTH L= U 6 4 [T 916 S W ad . 3fd 7, e x, v
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(b) 16 f&71

(c) 29 &

(d) 20 fam

(e) S0 q IS ST
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Q9. 3I[E 7 TH 25000 FYY B T Y-R1M PI fAfvrar S & wawr: 15% ufy aiffes »
3R 18% Ufd a1t <X & &1 YTl & ST fobarT | T oY & I $dl STl & &9 H 4050
EUT U fhTI 18% aTftic &R & ST b 713 MR bt 22

(a) 9000%=UTY

(b) 18000%=UTQ

(c) 15000 =4

(d)20000%=UT

(e) 379 ¥ PIS T8l
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Q10. 3 1A & 3fd H TP 38 HeH H 10 Ufawd ufd aifitfes ax & Taiford aremor 8k
Thgfa SIS & AT 3fR 124.05 TUT g | ¢RI foveT 82

(a) 10000=4T

(b) 600003%=TU

(c) 12000 =UTQ

(d) 8000 *UTY

(e) 0 9 B3 gl
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Directions (11-15): fRafafEd @ g vyl d wyars 0§ (7) & M R |1 HE
3{THT 913 u-

Q11.35,63,99, 143,?

(a) 175

(b) 185

(c) 195

(d) 205

(e) 155
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Q12.26, 105,400, 1185, 7, 2355
(a) 2360

(b) 2350

(c) 2355

(d) 2340

(e) 2430
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Q13.83,87,183,565,7,11461
(a) 2270

(b) 2275

(c) 2280

(d) 2290

(e) 2285
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Q14.7,23,55,109,191,?

(a) 307

(b) 317

(c) 333

(d) 343

(e) 729
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Q15.81,82,42,15,?

(@) 3.75

(b) 4.75

(c) 5.75

(d) 5.25

(e) 6.75
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Solutions

S1. Ans (a)



6035-1800

Sol. Percentage increase in selected students in PG in 2005= x 100 = 235%

Percentage increase in number of applied students in PhD in 2008 = % x 100 =

50%
Required percentage=% X 100 = 470%

S2. Ans (a)

Sol. Average students selected for PhD program =
3553 (approx)

Average number of student applied for PG program =

76500 = 12750

2160+4550+2850+4455+3402+3900 _ 21317 _
6 -6

8000+17000+10000+14000+16500+11000
5 =

12750—-3553

3750 X 100 = 72% less

Required percentage =

S3. Ans (e)

Sol. Difference for year 2004 = 4000 — 2160 = 1840
For year, 2005 = 13000 — 4550 = 8450

For year, 2006 = 6000 — 2850 = 3150

For year, 2007 = 9000 — 4455 = 4545

For year, 2008 = 13500 — 3402 = 10098

For year, 2009 = 15000 — 3900 = 11100

S4. Ans (b)
Sol. Number of students selected in 2005, 2007 and 2009 for PhD course = 13000 X % +
9000 x 222 4+ 15000 x ==

100 100

= 4550 + 4455 + 3900
=12905
Number of students applied in 2004, 2006 and 2008 for PhD course = 4000 + 6000 +
13500 = 23500
Required ratio = 12905 : 23500
= 2581 : 4700

S5. Ans (a)
Sol. Percentage increase/decrease in the number of selected students

For year 2005 = 803571890 » 100 = 235% (approx)
6035-2350
For year 2006 = oz X 100 = 61% (approx)
For year 2007 = 27222350 » 100 = 171% (approx)
570--6370
For year 2008 = 967 X 100 = 50% (approx)

For year 2009 = =222 x 100 = 45% (approx)

S6. Ans.(c)



Sol. let S be the sixth number.

243x8=185%x2+212%x3+S+(S+3)+(S+38)

1944 =370+ 63.6 +3S+ 11
194.4 — 111.6 = 3S
82.8 = 3S
S=27.6

S7. Ans.(b)

Sol.

Let the amount invested at 6% be x

The amount invested at 5% be 10000 - x
(10000 —x) X 5

100 x><100_76.50
50000 — 5x — 6x = 7650
11x = 42350
x =3850
S8. Ans.(d)
Sol.

When X work for 8 days work completed — 64%
1 day work of X = 8%
Let X, Y and Z earn 25x rupees

So X get —% X 25x = 12x

Y — 8x

Z — 5x

X work for six days

Y and Z for 4 days each

So, 1 day wages earn by X = 1sz =2x

1 day wagesearnby Y = %x =2x
5

1 day wage earn by Z = Tx =1.25x

Ratio of efficiency of
XY: Z
2:2:1.25
8:8: 5
So,
1 day work of X = 8%
100

So Z can complete the whole work in = - = 20 days

S9. Ans.(d)
Sol. Let the amount deposited at the rate of 18% per annum be x.
(25000 —x) x 15 18x 2050

100 + 100
= x=Rs. 10000




S10. Ans.(d)
Sol. Let the sum be Rs. x.
4
Then, [x (1+=) - x] - [2522] = 124.05
100 100
Solving the above equation, we get x = Rs. 8000.

S11. Ans.(c)
Sol.
Patternis 5x7, 7x9, 9x11, 11x13.............

S12. Ans.(a)
Sol.
Pattern is x5-25,x4-20, x3-15, x2-10...........

S13. Ans.(e)
Sol.
Pattern is x1+2% x2+3°, x3+4°....c.cc........

S14. Ans.(a)
7 23 55 109 191 =307
| | Il I I
+16 +32 +54 +82 +116
| Il Il Il I
16 22 28 34
| Il | ]
Sol. 6 6 b
S15. Ans.(b)

, B1f1 8242 4243 1544
Pattern is AL C .

Sol. 2 3

=475



